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5. 8 A G T 590 590 0
4. [2]EFASSSY B g uheld 4,500 450
[IR=] Pyl 2] o] (A - 9]
I.E%—%%H] 4,950 4,500 450 §}:l‘7] i o“’]"r‘ ]'L(ﬂ A) 450,000 *1 450,000
2. 58w 68,095 41,577 26,518
IS R A R 30,020 23,120 6,900
(4P A_3F)5E T 2 1A (544
1,995 10,048 9,280 768 768,000
ere 2HA]) 32,0009 %241« 124] 7k=
(APA_3F)EEZZ AR 84 10,000
We-odn )
2. 052Gl 19,972 13,840 6,132 214307 2 123] 3,600,000
(AHAB3F)ASEFEET 1 633,000
Sle21e08]- 2,532,000
2. [Z]1EEAGAES 38,075 18,457 19,618
A&z 32=)0]1An] o] %01
157 A k2 9191 700) 32,837 15,073 17,764 E,J° HA3F)AAN © 1,247,0008+278 6 14,964,000
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(B HA_3F)HAF7H] 700,000 +27
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w8 ,800,000
2. 717t A L1 7 m] 560 440 120| (P FA_3F)uA1171] © 120,000 #13]= 120,000
3. 95 5] 1,100 1,100 0
Az 3= 3 7| o= -
1BV A A QA e 3,578 1,844 1,734| (8 HASFHHRATIFRT T - 144,500 1,734,000
27 +69=
3. A g 2o 102,979 62,190 40,789
LA B 548 4 99,827 17,277 2,550
1.¢959 5,000 5,000 0
2. n &S 14,827 12,277 2,550 | A A ¢ 785,000 x13]= 785,000
WS EdFAX A (EH+3 ) ¢ 78 000
-785,000913]= ’
(4R 35 B ERFAAA(EAA 5 550 000
A 11,275,000 +2Y= o
2. [F 15X L5 A 7HA 7] 2 A 2LAFSDDAB 30,461 30,452
A&z 32=)o]l AN (A [e)
1.7] A Q1 A v 53,984 27,851 26,133 (A _35)0AM (54) + 1,656,040¢) 19,873,000
#QTg +6Y =
(B EHABF)EAF7(54) 730,000 1460 000
9—]*2135‘: ’ ’
(HYA 3P DG RS FH(ER) 1800000
1,200,00091+2:9 +27 = Y
- (AEA_BF)EEFHEA 0 (F4]) :
2. 9&E B2 1,710 0 1,710 1,710,000
REREA 855,000 %27 =
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3 F IR A AE S AL B Gl iz 1,728 2,400
1,71 704 911 7] 428 1728 2,400 g‘i%ﬁ—ﬁ)‘{ﬁﬂ](%a) © 96,00091+25 2,400,000
4. [ frotahn A A (54) 15,411 10,024 5,387
1Leds 6,144| 3,840 2,304 gii‘iﬁ%)gﬁﬁf AL ¢ 384,00090%3 2,304,000
2. WS- FH]| 9,267 6,184 3,083 | (A HH_3F)7H4H] & 1,541,500 %29 = 3,083,000
5. [ 1S 3g - d A A (F4) 2,700 2,700 0
1. 099 2,700 2,700 0
2. 58 17,800 17,800 0
1548529 17,800 17,800 0
1.[2]1=ATY 11,600 11,600 0
1. A ) 11,600 11,600 0
2. [2]=ANTES 2,600 2,600 0
2.0 5$FH| 2,600 2,600 0
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1. WS99 3,600 3,600 0
3.71ef A8 usds 7,410 7,410 0
1718 e w29 7,410 7,410 0
LIEIF8sas2 9 3,500 3,500 0
1. 25 3,500 3,500 0
2. [2]93edFAA 4 3,910 3,910 0
1.&959 3,910 3,910 0
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1. 059 480 480 0
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RNES R Rt R 5,560 5,560 0
1. 0% H| 5,560 5,560 0
4. [2]873 A 11,396 11,396 0
1. dRkp8n) 11,396 11,396 0
5.[21nSHAY AL 4,440 4,440 0
1. dRkp8n) 2,220 2,220 0
2. dWrd F-F71v] 2,220 2,220 0
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2. 505893 0) 2,900 3,400 ~500 *T;‘j §EFBETUCEA) + 500,000 ~500,000
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2 ASA = 41,962 41,962 0
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2. BARFAL LA 42,872 41,812 1,060
LIFIHFXY 38d 2 AAFTHS 4,000 4,000 0
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